BEMRKFRFRAGER (20185F4A A%F)

@ X Ffeid T RTHAERAE -8 L5738

W B BiEAR | BEAR TRE ZRE AEE AP | oex
% = g 5 = g 5 = g 5 -8 H

I# 0 0 0 0 0 0 0 0 0 0 0 0 -

I £ 0 0 0 0 0 0 0 0 0 0 0 0 -

—_— I #A 10 0 2 2 0 2 2 0 2 2 0 2 2 1.00

mEABAE 2 1 3 1 1 2 0 1 1 0 0 0 2.00

hER# 0 0 0 0 0 0 0 0 0 0 0 0 -

R B KR ¥* & X & § 2 3 5 1 3 4 0 3 3 0 2 2 1.33

S S I #A 0 0 0 0 0 0 0 0 0 0 0 0 -

I £ 0 0 0 0 0 0 0 0 0 0 0 0 -
I #A 10 2 2 4 2 2 4 2 2 4 2 2 4 1.00
ES1% 5
mEABAE 3 1 4 3 1 4 2 1 3 1 1 2 1.33
hER# 0 1 1 0 0 0 0 0 0 0 0 0 -
EBREiHBHEHR & 3F 5 4 9 5 3 8 4 3 7 3 3 6 1.14
14 5 6 11 5 6 11 4 5 9 3 4 7 1.22
I £ 13 11 24 12 10 22 8 7 15 8 6 14 1.47
g%ﬁ rE® I £ % 13 20 33 11 18 29 6 11 17 6 9 15 1.71
hER# 0 0 0 0 0 0 0 0 0 0 0 0 -
B B %2 & ® & & 31 37 68 28 34 62 18 23 41 17 19 36 151
I# 1 3 4 1 3 4 0 1 1 0 1 1 400
I £ 20 2 5 7 2 5 7 1 1 2 1 1 2 3.50
BAREHE I £ 6 10 16 6 9 15 2 6 8 2 5 7 1.88
hER# 0 0 0 0 0 0 0 0 0 0 0 0 -

EEYE BAZBHEBEEHR &t 9 18 27 9 17 26 3 8 11 3 7 10 2.36

B E 14 0 0 0 0 0 0 0 0 0 0 0 0 -

I £ 0 0 1 1 0 1 1 0 1 1 0 1 1 1.00

RIEHFH JIIg:t 0 0 0 0 0 0 0 0 0 0 0 0 -
hER# 0 0 0 0 0 0 0 0 0 0 0 0 -
XREHEEX &G 0 1 1 0 1 1 0 1 1 0 1 1 1.00

I# 5 13 18 5 11 16 3 4 7 3 4 7 2.29

I £ 3 6 8 14 6 8 14 1 2 3 1 1 2 467

ERERIL IR JIIg:t 7 3 10 6 2 8 1 1 2 1 0 1 4.00
hER 0 0 0 0 0 0 0 0 0 0 0 0 -

DR R R DEZFHEX G| 18 24 42 17 21 38 5 7 12 5 5 10 3.17

e 14 2 0 2 2 0 2 2 0 2 2 0 2 1.00

I # . 2 0 2 2 0 2 2 0 2 1 0 1 1.00
RERLES I £A 3 4 7 3 4 7 3 3 6 3 3 6 1.17
hER 0 0 0 0 0 0 0 0 0 0 0 0 -
BELEFENR §F 7 4 11 7 4 11 7 3 10 6 3 9 1.10
KB FRIZZ R I 88 20 0 0 0 0 0 0 0 0 0 0 0 0 -
L—2aV BB KETRIZR b —vay | hERM 0 0 0 0 0 0 0 0 0 0 0 0 -
(BFRE2) RETFFI=AML—Sa @K B8] 0 0 0 0 0 0 0 0 0 0 0 0 -
I 1 1 2 1 1 2 1 1 2 1 1 2 1.00
- I # 20 1 1 2 1 1 2 1 1 2 1 0 1 1.00
ﬁﬁ%g BEE I #A 3 4 7 3 4 7 3 4 7 3 4 7 1.00
hER 0 0 0 0 0 0 0 0 0 0 0 0 -
Z 5 %2 5 B & i 5 6 11 5 6 11 5 6 11 5 5 10 1.00
ELRTHRE-ELRE &5t 77 97 174 72 89 161 42 54 96 39 45 84 1.68
@ XZiiE TR HAFREE R — e -
. - e SFE 2k Az ”

Bz E R A EFHA BEEER P = = P ™ = P ™ = P ™ = EES

" : o I A 10 2 3 5 2 3 5 2 2 4 2 2 4 1.25
ERESEH | ERAXHSHS ERAXHEHNZER A5 2 3 5 2 3 5 2 2 4 2 2 4 1.25
o—— -~ I #A | 3 _ 1 3 4 1 3 4 1 2 3 1 2 3 1.33

Z 5 %2 5 B & i 1 3 4 1 3 4 1 2 3 1 2 3 1.33
B RARESS 3 6 9 3 6 9 3 4 7 3 4 7 1.29
O KPR BERERE __ — — —
. o SR8 5 A%

LS K A BFEA BEEER P = = P ™ = P ™ = P ™ = EES
5}“—/73556}‘—{7;5{ SV 188 40 _ 18 3 21 18 3 21 18 3 21 18 3 21 1.00
GEE%EERE) REFRIZAMN —LavER A5t 18 3 21 18 3 21 18 3 21 18 3 21 1.00

BIEEXRFRESE 18 3 21 18 3 21 18 3 21 18 3 21 1.00




BEMRKFRFRAGMGER (2018598 AF)

O KEfRiE AT HARIE - 1B L5878
1 = HE 2E
e ) By BiRAS | HEASR . = - - . EE
5 i 5 ] k- 5 5 g4 B ] k4 5
FER - 1 0 1 1 0 1 1 0 1 1 0 1 1.00
HT4
ERZ IVHA 1 0 1 1 0 1 1 0 1 1 0 1 1.00
B ¥ 52 X & i 2 0 2 2 0 2 2 0 2 2 0 2 1.00
ERERE R =
R EH i rra 0 1 1 0 1 1 0 1 1 0 1 1 1.00
E3]i: 35l IVH#j 0 0 0 0 0 0 0 0 0 0 0 0 -
EB®HBHDER & F 0 1 1 0 1 1 0 1 1 0 1 1 1.00
FER i rra 4 7 11 4 7 11 2 5 7 2 5 7 157
BEFMER BrEz IVHA 3 2 5 3 2 5 3 2 5 3 2 5 1.00
#EBE ¥ E KX & F 7 9 16 7 9 16 5 7 12 5 7 12 1.33
h E R - 2 1 3 2 1 3 2 0 2 2 0 2 1.50
- T4
BARZEHE IVEA 1 0 1 1 0 1 1 0 1 1 0 1 1.00
_ HAEHBENKR &% 3 1 4 3 1 4 3 0 3 3 0 3 1.33
EEREHRR - =
o [E 35 i . 0 0 0 0 0 0 0 0 0 0 0 0 -
s HT4
HEHE IVHA 0 0 0 0 0 0 0 0 0 0 0 0 -
& EE BEE X &G 0 0 0 0 0 0 0 0 0 0 0 0 -
R E R ih — — — — — — — — -
R T4
BRI IEZ IVER — — — — — — — — -
BERDEZHEKR 43 — — — — — — — — -
DB _ =
h [E 35 i . 0 0 0 0 0 0 0 0 0 0 0 0 -
. T4
RS IVEA 1 0 1 1 0 1 1 0 1 1 0 1 1.00
BEELDEPER A% 1 0 1 1 0 1 1 0 1 1 0 1 1.00
. 18} 1 0 1 1 0 1 1 0 1 1 0 1 1.00
RETFRIZRbE PERM EF4
L—av B i | KRE7RE=RL—2aY IVER 0 0 0 0 0 0 0 0 0 0 0 0 -
S AsE A
CRFERIE) REFRIZZAL—avER &5 1 0 1 1 0 1 1 0 1 1 0 1 1.00
FER i - 1 0 1 1 0 1 1 0 1 1 0 1 1.00
T4
ZEFHER 2EF V& 0 0 0 0 0 0 0 0 0 0 0 0 -
2 FE 2 2 X & F 1 0 1 1 0 1 1 0 1 1 0 1 1.00
BLRHIRE-ELRE &5 15 11 26 15 11 26 13 8 21 13 8 21 1.24
@ KRt R HARTE
= 2
MEE x ERiCE EB = = = = [T 52
oo il BER A A HETFR 5 = 5 ™ z 5 = 5 ™ : &
IVH§ =T4 1 2 1 1 2 1 2 1 1 2 1.00
Ea| 3=t sk ) EE AR 2
T =0T EMAXHESHEER &5 1 1 2 1 1 2 1 2 1 1 2 1.00
v | ET4 2 3 5 2 3 5 2 4 2 2 4 1.25
EELHER BEL
T * 2 5 2 B X & | 2 5 2 3 5 2 4 2 2 4 1.25
BEEHRESS 3 7 3 4 7 3 6 3 6 117
@ X BIEHE BRI
MER ! ERticd] EB8 = - - - EE
2% %l BR A S5TE8 P = P = P = 5 = B
RETFRIZ=RH+
L—2av i BR/| KEFRE =R —30 IVEA T4 4 5 4 5 4 5 4 5 1.00
GRIEHERE)
BIEHAERESS 4 5 4 5 4 5 4 5 1.00
O AFENMEER (KENEEZRE—ERETOISLIER
MR I ERtic EB - - = = EES
7% %l BER A A S5TE8 P = P = P = 5 = e
REEHMER BrEx IVH =T4 0 0 0 0 0 0 0 0 -
ERAFHAEH BABHE V] T4 0 0 0 0 0 0 0 0 -
IDIBEIRER BELESE IVEHA =T4 0 0 0 0 0 0 0 0 -
=1 0 0 0 0 0 0 0 0 -




